Egzamin z Mechaniki Konstrukeji (Mech. Structures) II, 20 VI 2023 r.
Wydzial Inzynierii Lgdowej, studia stacjonarne

NAZWISKO imie
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Data

Zadanie 1 Zapisa¢ rownanie okre$lajace drgania masy skupionej w wezle danej ramy z pretéw niewazkich.
Prety sa pryzmatyczne, niewydtuzalne, o danej sztywnosci EJ.
Obciazenie Py jest przytozone nagle.
Warunki poczatkowe sg jednorodne.

(Write down the equations

which determine vibrations

of the concentrated mass at the node
of a given frame made

from the inextensible and weightless bars
of constant bending stiffness EJ.
The load Pois applied abruptly.
The initial conditions are homogeneous.

I oA

Zadanie 2 Dana belka o ggstosci masy 4 z masa skupiong m w $rodku jest poddana danemu obciazeniu

harmonicznemu. Obliczy¢ amplitudg reakcji pionowej w utwierdzeniu A. ;
(The given beam of mass density £ with the concentrated mass m in the middle is subject to the given

harmonic load. Compute the amplitude of the vertical reaction V4 in the clamped edge A.)

Zadanie 3

Wyprowadzi¢ zwigzek transformacyjny @,

- (@0 + ()0~ 80 + 0

dotyczacy pryzmatycznego preta prostego poddanego duzej sile osiowej S i obcigzeniu poprzecznemu. Jako
punkt wyjscia przyjaé rownanie rozwigzujace wiagzace funkcje ugiecia preta z intensywnoscia obcigzenia
poprzecznego przestowego.

(Derive the slope deflection equation

D, =

E
A

a(0)p; + (o) o~ S(o)y )+ D]

concerning a straight prismatic bar subjected to a big axial force S and to a transverse load. As a point of
departure assume the govermning equation linking the deflection function with the intensity of the transverse

span load).
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